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Questions:

Lots of non-track potential electron events are around wire 240-250

L.vdc.u1.wire (non-track)

| Entries 14303
Mean 2018
= Sid Dev 67.04
o0d Underfiow 0
Overflow [}
[Integral _ 1.430+04 |
400
200—
100} y
-~ - VA AN WAL R \
4 - |
% 50 100 150 200 250 20 350
L.vdc.v2.wire (non-track)
Entries 14214 |
200F Mean 2036
180! | Sid Dev 7233
g Underflow 0
160 — Overflow 0
b | Integral 14212404 |
140"
120+ [
100— L
80/ .
F u
60— 1 - AR
: 2 " ¥ .
— i rh n
o W ATAY Bl 3
i Ny
20¢ f
0: ,.-'"" | 'y ok
0 50 100 150 200 250 300 350

L.vdc.v1.wire (non-track)
Entries 14339 |

E Mean 2003
200¢ i Std Dev 67.15
180 - Underflow 0

Overflow 0
160 — | Integral  1.434e404
140 .

| - |
1201~ vy
100/~
80 ]

“E Aa VY
40 s el A W 3
o=

or‘ - 4 I,—,L Ad i - 4 e ehdde Dbl ~ W N

0 50 100 150 200 250 300 350

L.vdc.u2.wire (non-track)
Entries 14197

400F : Mean 2073

C Sid Dev 72.09
50/ Underfiow [}

r Overflow 0
300 Lintegral 1420404
250 —

2001
150}
100}

E J e
50— P AL - "

E WA o el % *

o_.__._.a; o 2 s -1 A - S . S 'S




Run 3142 is used to make plots unless specified.
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vdc ul rawtime(ns), wire # 240
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vdc ul time v.s. wire number
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drift time (ns)

vdc ul time v.s. wire number

h2

- L.vdc.ul.wire==240&&L.vdc.u1.time*1e9>400 Entries 1478
Mean x 240.3
Mean y 265.9
Std Devx 1.865
StdDevy 2504

—r
o
o
o

BT |

T

UMD |

800

600

400

200

|| 1

gl
I

BV A
AT

N
w_
(0 0]
N
S
(e»]
N
_p_
N

244
wire number



Wire 240 has a lot of multi hits: bad wire? Bad electronics?

L.vdc.u1.time*1e9:Entry$ {L.vdc.u1.wire==240}
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vdc ul hits per channel v.s. wire number
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Wire 240 Tracking Quality Check:

Q:

1. Percentage of “bad” hit from wire 240
2. When the wire 240 tdc value passed hard_cut but has multi hits, can
we trust it?



Wire 240 Tracking Quality Check:

1. Find potential good electron events:

TCut pid ="DL.bit2>0&&L.cer.asum_c>2000 &&
(L.prll.e+L.pri2.e)>(HacL_D1_POrb*800)";

2. Look at hits / tracks per wire

3. Ifnotrack,isthe fired wire not used for cluster or cluster formed but
not used for track ??

"L.vdc.ul.clbeg[0]<240&&L.vdc.ul.clend[0]>240&&L.vdc.ul.wire==240"
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# of TDC hits per VDC wire
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Conclusion:

1. U1 wire 240 is noisy (multi-hits) across the spring run period

2. When analyzer was able to find cluster with wire 240, the track looks
OK (?)

3. 8% of hit from the wire could be good but didn’t used to for cluster



